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Note : This paper is of thirty-five (35) marks containing
three (03) sections A, B and C. Learners are
required to attempt the questions contained in these
sections according to the detailed instructions given
therein.
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Note : Section ‘A’ contains four (04) long answer type

questions of seven and half (7%) marks each.

Learners are required to answer two (02) questions
only.
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What is shifting cultivation ? Discuss its adverse
effects and control measures.
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What is the effect of grazing and browsing on the

forests ? Suggest the preventive and remedial measures
to minimize the problem.
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Elaborate the silvicultural and biological control of
insect pests.
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What is forest protection ? Discuss the role of forest in
relation to environmental conservation.
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(Short Answer Type Questions) / (g STRIF U%H)

Note : Section ‘B’ contains eight (08) short answer type
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questions of two and half(23) marks each.

Learners are required to answer six (06) questions
only.
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What is mining ? Write in brief.
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Briefly discuss the wood boring insects giving
examples.
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Discuss in brief the effect of rainfall, both positive and
negative in the forest ecosystem.
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What do you understand by deforestation ? What are
the main causes of deforestation ?

FAE R & ? §Hd YT BRYT R § ?

What is frost ? Describe in brief types and the adverse
effects.
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Briefly discuss about seed and come insects. Give their
preventive measures in brief.
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What is the positive effect of wild animals on forest
vegetation ? Describe briefly.
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What is a heartwood borer ? Explain with examples.

ARATS (5w 1 & ? SaTeRv Aigd FHSASY |
Section—-C / Gue—T[
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Note : Section ‘C’ contains ten (10) objective type

questions of half (%) mark each. All the questions
of this section are compulsory.
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Indicate whether the following are True or False :
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Ganoderma lucidum is a root rot. (True/False)
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Western Himalayan region is a grazing region of India.

(True/False)
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Terracing is a systematic approach to avoid run-off in
hills. (True/False)
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Birds do not help in pollination. (True/False)
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Maximum cases of fire in India are intentional.
(True/False)
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Choose the correct alternative :
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Shifting cultivation is known as ‘Jhum’ in which
State ?
(@ Manipur
(b) Arunachal Pradesh
(c) Gujarat
(d) Assam
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Lopping is :
(@) Cutting of branches
(b) Cutting of leaves

(c) Cutting of turigs
(d) All of the above
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On the basis of mode of occurrence and origin, frost is
classified into the following types :
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(b) 2

(c 3

(d) 4
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Due to the cutting of tree, CO, in the atmosphere is :
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(@ Increasing

(b) Decreasing

(c) Stable

(d) None of the above
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Which of the following is the most denastating type of
fire ?

(@ Underground fire

(b) Ground fire

(c) Surface fire

(d) Crown fire
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